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1. Dead code is .
a. the program instructions that will be converted to machine language
b. any program instructions that a program executes
c. the program instructions that have been converted to machine language
d. any program instructions that a program never executes
2. is ideal for the production of high-quality color documents such as textbooks, corporate
newsletters, marketing literature, product catalogs, and annual reports.
a. Desk Top Publishing software b. CAD software c. Word processing software d. Multimedia authoring software
3. In object-oriented design, the concept of packaging data and procedures into a single object is called .

a. validation b, encapsulation c. verification  d. consolidation
4, is a set of technologies by Sun Microsystems that allows programmers to develop and deploy
Web services for an enterprise.
a. JIT (Java Instruction Technology) ¢. J2EE (Java 2 Platform Enterprise Edition)
b. JavaScript d. JavaBuilder
5. is the delivery of education at one location while the learning takes place at other locations.

a. Extended training (ET) b. Faraway schooling (FS) c. Remote teaching (RT) d. Distance learning (DL)
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int Fib(int n) {

if {n <= 0) return 0;

if (n = 1) return 1; }

return Fib(n-1)+Fib(n-2); return
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